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s %A 85,010 85,010 - g o 85,010 85,010 -
2x=+8 85,000 85,000 - | AR 45,000 45,000 -
2x3+Y 85,000 85,000 - | 228l 39,815 39,560 255
N2PEXEZ 85,000 85,000 - | 20 25,074 25,045 29
Mg 8,482 8,371 111
S23Y HRNYS 2,796 2,785 11
NEEE=Es = 3,463 3,359 104

2=l 880 880 -
Jl 22| 880 880 -
3l - - -
23| 4,305 4,560 -255
04 dl 840 840 -
+=EHIH =8 2,473 2,728 -255
MAS= 300 300 -
JIEt2E| 692 692 -
SES+Y - - - | a4l - - -
Sl - - - | A& - - -
NE=23 - - - | Al&HI - - -
HXNE=E= - - - | AHAHFESHI - - -
&g 10 10 - | Argibl 40,000 40,000 =
=g 10 10 - | LEFAIHI 40,000 40,000 =
JIEHHI 20l Xt 22l 10 10 - | E2AIH 4,000 4,000 -
NEL=SXJAAS 36,000 36,000 -

olelgl & JIEt 10 10 -

OiidIdl & O1E 10 10 -




